2012 Snow College Vet Science CDE

Written Exam


1. When an animal is presented with an abnormality cranial to a certain body structure, the word cranial means:

a. Closest to the midline

b. Toward the head

c. Toward the nose

d. Toward the tail

2. You are restraining a Besenji dog for cephalic venipuncture. When the person performing the injection has placed the needle and is ready to inject the drug, he says to you, “Okay.” He is most likely asking you to:

a. Lift the thumb that is occluding the vein

b. Release the animal from restraint

c. Roll the vein in the opposite direction

d. Verbally indicate that he has made contact with the vein

3. Anemia is:

a. A decrease in the number of red blood cells.

b. A disease that can be transmitted from animals to humans.

c. A single celled animal.

d. The study of parasites.

4. A compound fracture is one in which:

a. The bone breaks through the skin.

b. The bone shatters in the many pieces.

c. The break is along the axis of a bone.

d. The break is on one side of the bone.

5. The abomasum is:

a. The first compartment of the ruminant stomach.

b. The second compartment of the ruminant stomach.

c. The third compartment of the ruminant stomach.

d. The fourth compartment of the ruminant stomach.


6. Diseases that can be transmitted to humans are known as:

a. Benign

b. Contagious

c. Malignant

d. Zoonotic

7. Which of the following needles has the smallest bore?

a. 16 gauge

b. 20 gauge

c. 21 gauge

d. 25 gauge

8. Which of the following acronyms is used when administering medication twice a day?

a. BID

b. QID

c. SID

d. TID

9. Which of the following animals would be classified as a Hound Breed?

a. Chihuahua

b. Cocker Spaniel

c. Dachshund

d. French Bulldog

10. Which of the following parasites is considered an endoparasite?

a. Fleas

b. Hookworms

c. Mites

d. Ticks

11. Dystocia can be defined as:

a. A birth in which the offspring enters the birth canal hind end first.

b. Abnormal or difficult birth.

c. The carrying of an embryo or fetus.

d. The process of giving birth.

12. Indicate the tablets/capsules prescribed for the following order: Rx: Metronidazole tablets 250 mg Sig: 1 tablet, P.O., BID x 10 days

a. 10 tablets

b. 20 tablets

c. 30 tablets

d. 40 tablets

13. One of the fastest means of getting drugs in to the bloodstream is:

a. Intranasally

b. Intravenously

c. Orally

d. Topically

14. What is the vector for heartworms?

a. Flea

b. Lice

c. Mosquito

d. Tick

15. Which of the following breeds of dairy cattle produce the most milk?

a. Brown Swiss


b. Guernsey

c. Holstein

d. Jersey

16. Which breed of swine is characterized by being black in color with four white feet and/or legs, short wrinkled snout, and medium erect ears?

a. Berkshire

b. Hampshire

c. Hereford

d. Spots

17. After autoclaving a surgical pack, you notice that the autoclave tape looks the same as it did when you placed it in the autoclave. What should you do now? 

a. Just hide the pack so you do not get in trouble for it not being sterilized.

b. Open the pack to check the instruments for sterility. If they look clean, they can be used. 

c. Place the pack to the side and do not allow it to be used because the sterility of the pack is questionable.

d. Place the pack with the others – there is no reason to be concerned about the sterility of the instruments.

18. Annie is helping to examine a patient. She is instructed to take the temperature, pulse and respiration, which is a crucial part of a physical exam. Which of the following factors does not affect TPR?

a. age

b. breed

c. environmental temperature

d. size

19. Jane is taking a dog’s pulse. What is the name of the artery where she will do this?

a. Brachiocephalic artery

b. Carotid Artery

c. Facial artery

d. Femoral artery

20. In preparation for her CVA test, Mary is studying systems of the body. Which of these is NOT included in the circulatory system?

a. Blood

b. Blood Vessels

c. Heart

d. Lymphatics

21. Which drug schedule has no current accepted medical use?

a. Schedule I

b. Schedule II

c. Schedule III

d. Schedule IV

22. Aseptic technique is

a. A chemical agent that kills of prevents to growth of microorganisms

b. Cleaning surfaces with bleach

c. Precautions taken to prevent contamination of a surgical wound.

d. Swabbing for a bacteria culture

23. Most surgical instruments are manufactured from

a. Aluminum

b. Copper

c. Lead

d. Stainless steel


24. When a patient is having an ovariohysterectomy performed, the patient is placed in__________ recumbency.

a. Dorsal

b. Lateral

c. Sternal

d. Ventral

25. The amount of food provided to livestock in a 24-hour period is its

a. graze

b. ration

c. roughage

d. silage

26. A sheep has a temperature of 102.5ºF. This is:

a. Normal

b. Too high

c. Too low

27. A machine that spins samples very rapidly to separate elements based on weight is a

a. cannula

b. centrifuge

c. counter

d. refractometer

28. Which of the following hormones are the primary hormones produced by the ovaries?

a. Estrogen and progesterone.

b. Estrogen and testosterone.

c. Testosterone and oxytocin.

d. Testosterone and progesterone.

29. What is a cryptorchid?

a. Causes destruction of the cotyledons of the uterus.

b. Condition in which one or both testicles remain in the body cavity.

c. Process by which sperm are produced by the male.

d. Sterile female calf born twin to a male calf.

30. 180. The term that means of, or relating to swine:

a. Canine

b. Equine

c. Galline

d. Porcine

31. The act of giving birth in dogs.

a. Dogging

b. Farrowing

c. Foaling

d. Whelping

32. A veterinary technician inventories the number of medication containers. She finds there are 1,137 safety-lock containers, 963 easy-open containers, 413 15mL bottles, 1,265 30mL bottles, and 258 ointment containers. What is the total number of medication containers?

a. 1457 containers

b. 3000 containers

c. 4000 containers

d. 4036 containers

33. A technician is using a microscope to examine a specimen. If the eyepiece on the microscope has a power of 15x (x means times; a power of 15x magnifies an object 15 times) and the objective has a power of 100x, what is the total number of times she is magnifying the specimen? Hint: to find total magnification on a microscope, multiply the power of the eyepiece times the power of the objective.

a. 1500x

b. 2000x

c. 2500x

d. 3000x

34. What is drenching?

a. giving a liquid medication orally

b. hosing down a production facility

c. milking a dairy goat too often

d. washing a sheep thoroughly

35. A bacteria or virus that causes clinical disease

a. Antigen

b. Founder

c. Pathogen

d. Strangles

36.  An example of a fungus is

a. Pink Eye

b. Ringworm

c. Sarcoptes

d. Tuberculosis

37. Determine the number of pounds in 10.5 kilograms.

a. 21.9

b. 23.1

c. 24.6

d. 25.5

38. The function of the cecum is to:
a. Aide in the digestion of fibrous materials.

b. None of the above.

c. Produce bile.

d. Produce insulin.

39. Referring to the lower or bottom view:

a. Anterior

b. Cranial

c. Dorsal

d. Ventral

40. To prevent inhaling gas when you are monitoring anesthesia, it is best for you to stand :

a. Anywhere in the room.

b. Away from the patient’s head.

c. Close to the patient’s head.

d. Outside of the room.

41. Rabies is transmitted through:

a. Blood from the affected animal

b. Feces from the affected animal

c. Saliva from the affected animal

d. Urine from the affected animal

42. Lyme disease is caused by a:

a. Bacteria

b. Fungus

c. Parasite

d. Virus

43. Nebulized is defined as:

a. Turned into a fine mist

b. Turned into a liquid

c. Turned into molecules

d. Turned into oxygen

44. The amount of fecal matter needed for a canine or feline fecal analysis is approximately:

a. The size of a baseball

b. The size of a golf ball

c. The size of a grape

d. The size of a grapefruit

45. An eight month old Chihuahua was stung by a wasp and had a fluctuation in its heart rate. What term describes its fluctuating heart rate?

a. Arrhythmia

b. Auscultation

c. Bradycardia

d. Tachypnea

46. The veterinarian is explaining to Sally’s owner how she will be spayed. Spay is defined as:

a. Allergic response

b. Substance that induces an immune response

c. Swelling and inflammation

d. The common term for removal of female reproductive organs

47. Immunity is defined as:

a. Having resistance to a disease due to the formation of antibodies.

b. Not being able to tolerate disease

c. Rhabidovirus

d. Slow and painful abscess

48. In most species, what are the kidneys shaped like?

a. Beans

b. Circles

c. Clovers

d. Pears

49. James accidentally spilled bleach. In order to know the correct clean up procedure to take, he must check the MSDS. The acronym MSDS stands for:

a. Material Safety Data Sheet

b. Material Safety from Disease Sheet

c. Mechanical Safety Data Sheet

d. Mechanical Safety Destruction Sheets

50. While cleaning an exam room, Abby uses a disinfectant. This is:

a. a chemical agent that allows that growth of microorganisms on inanimate objects

b. A chemical agent that kills, or inhibits the growth of microorganisms on inanimate objects.

c. a washcloth and hot water

d. something that contaminates surfaces

